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QUESTION 1

When comparing IPv4 to IPv6, which of the following is an advantage of the IPv6 network addressing scheme?
A. Larger address space

B. Shorter address space

C. High dependence on network routers

D. Fast and unencrypted network transmissions

Correct Answer: A

QUESTION 2

Configuring a wireless network involves several steps. Which of the following is a task that should be performed to
configure and connect to a wireless network?

A. Configure a certificate authority and configure the trust settings.

B. Configure the wireless AP\\'s SSID, encryption level and shared key.
C. Connect your computer to the same network hub as the wireless AP.
D. Connect your computer to the same network switch as the wireless AP.

Correct Answer: B

QUESTION 3

You are a computer technician supporting a small 15-computer Internet lab. The computers are regularly used to
browse the Internet and download files. Users have recently complained that they receive error messages saying the
hard disk is full or out of space. You suspect this is a result of a large amount of temporary Internet files. Which of the
following is a way to easily delete all the temporary Internet files?

A. Disk cleanup

B. fdisk command

C. chkdsk command

D. Disk defragmentation

Correct Answer: A

QUESTION 4

What should be your first step when troubleshooting a network connection that uses a cable modem?
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A. Ping the proxy server.

B. Ping the default gateway.

C. Ping local devices using their DNS names.
D. Ping local devices using their IP addresses.

Correct Answer: D

QUESTION 5

Server-based networks typically contain centralized network resources, which are usually not available on peer-to-peer
(P2P) networks. Which of the following examples describes a server based network?

A. Three network clients connecting to a file server

B. Downloading a file by using BitTorrent technology

C. Sharing one or more files to another computer via the Internet

D. A client connecting to another computer over the Internet to share music

Correct Answer: A
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